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4A
CH,
4B
CH,4
4C

4D

4F

CO

N,O

N,O
CH, N,O

CH,4

N,O

CH,

CH,4

N,O



4B
CH4 N20
S

4D2
CH4 N20

1
NH; NO
—> —>
120,132 18,506
y
NH3 NO
NO, —> —>
> 50,389 257,749
661,044 17,004
455,012
— _— —>
523,907 275877
463,014 NO,
>
6,792
1,564
L
379,172
2
N



&

4A1 CH,

4A

CH,4
CH,
6/24
18/24
2/24
6/12
6/12
2/12
6/12
6/12
2/12
6/24
18/24

2/24




GPG(2000
CH,
CH,4
GPG(2000
c
E=EF*A
E . CH, kg CH,
EF kg CH,/
A .
d
a
CH, kg
b
CH,
CH,
CH,
1
EF=Y/L*C*D
Y =-17.766 + 42.793* X —0.849* X 2
Y CH,
L :CH, mol 22.4  1/mol
C :CH, 0.016 kg/mol
D 365 366
X kg/
CH, 64

1993

Tier



1987 1994
1999 2000

DMI = 2.98120 + 0.00905*W +0.41055* FCM
FCM = (15*FAT /100 +0.4)* MILK

DMI

W :
FCM :FCM
FAT
MILK

DMI =TDN /0.52*1.1
TDN =(0.1163*W *™ /0.82)/ 4.41

DMI
W
TDN

DMI =0.49137 +0.01768*W +0.91754* DG

DMI
W
DG

MEM = 0.1067*W ®"
NEG = 0.0639*W °™* * DG
q=0.4213+0.1491* DG
kf =0.78*q+0.006

1995



MEG = NEG / kf
MERC = MEM + MEG

DMI = MERC /(q*4.4)

MEM
W
NEG
DG

kf
MEG
MERC
DMI

MEM = 0.1124*W %™

NEG = 0.0546*W *” * DG
q=0.5304+0.0748* DG

kf =0.78*q+ 0.006
cneg =1.653-0.00123*W

MEG = NEG / kf *cneg
MERC = MEM + MEG

DMI = MERC /(q*4.4)

MEM
W
NEG
DG

kf
cneg
MEG
MERC
DMI

MEM = 0.1108*W 7
NEG = 0.0609*W ° * DG
g =0.5018+0.0956* DG
kf =0.78*q+0.006



MEG = NEG / kf
MERC = MEM + MEG

DMI = MERC /(q*4.4)

MEM
W
NEG
DG

kf
MEG
MERC
DMI

MEM = 0.1291*W %™

NEG = 0.0510*W " * DG

q = (0.933+0.00033*W)*(0.498 + 0.0642* DG)
kf =0.78*q+0.006

MEG = NEG / kf
MERC = MEM + MEG

DMI = MERC /(q*4.4)

MEM
W
NEG
DG

kf
MEG

MERC
DMI

70 W 200 W 200 DMI

70 W 200
MEM = 0.1291*W %™

NEG = (1.00 +0.030*W %) * DG
g = (0.859 —0.00092 *W ) *(0.790 + 0.0411* DG)

7



kf =0.78*q+0.006
MEG = NEG / kf
MERC = MEM + MEG

DMI = MERC /(q*4.4)

MEM
W
NEG
DG

kf
MEG
MERC
DMI

W 200
MEM = 0.1291*W %™

NEG = 0.0510*W °™ * DG

g = (0.933+0.00033*W ) * (0.498 + 0.0642* DG)
kf =0.78*q+0.006

MEG = NEG / kf

MERC = MEM + MEG

DMI = MERC /(q*4.4)

MEM
W
NEG
DG

kf
MEG
MERC
DMI

2000 2001
2000

1999



c

1989 2004 CH,4

1989 | 1990 | 1991 | 1992 2003 | 2004

182 182| 183| 187 20.5] 20.7

125.0] 125.1] 1259 126.7 131.4] 1314

8.2 8.2 8.2 8.2 8.5 8.5

720] 720 723| 721 74.1] 739

7.1 7.1 7.1 7.1 7.5 7.5

63.3| 634| 63.7| 637 66.9| 66.7

3.6 3.6 3.6 3.6 3.7 3.7

327] 327 328| 327 33.7] 336

6.6 6.6 6.6 6.6 7.1 7.1

59.0] 59.0] 59.2] 59.0 63.3] 63.1

5.5 5.5 55 5.5 6.7 6.7

49.8| 49.8| 50.0| 49.8 60.3| 60.1

3.8 3.8 3.8 3.8 4.4 4.4

349 349 350| 349 405| 404

8.4 8.4 8.4 8.4 8.4 8.4

732| 732]| 734]| 732 734] 732

6.8 6.8 6.8 6.8 6.8 6.8

61.1| 61.1| 61.3| 611 61.3]| 61.1

4.3 4.3 4.3 4.3 4.3 4.3

396| 396] 39.7| 39.6 39.7] 39.6

5.7 57 5.7 5.7 6.4 6.4

518 518] 519| 518 58.2] 58.1

4.9 4.9 4.9 4.9 6.1 6.1

443 443| 445| 443 55.5| 553

3.4 3.4 3.4 34 4.1 4.1

31.0] 310] 310|] 310 375] 374

8.7 8.7 8.7 8.7 8.7 8.7

75.6| 756 75.8| 75.6 75.8| 75.6

5.3 5.3 5.3 5.3 5.3 5.3

480 480] 481| 48.0 48.1] 48.0
d

3
CH,4
CH, 64 1993
DMI
e
GPG(2000 CH,4

CH,




c

1989 2004

4
198911990 | 1991 [ 1992 | 1993 ] 1994 | 1995 [ 1996 | 1997 | 1998 | 1999 | 2000 | 2001 | 2002 | 2003 | 2004
108111082 | 1081 [ 1084 | 1052 | 1034 |1 1035 [ 1032 | 1022 ] 1008 | 992 | 971 | 966 | 964 | 936 | 936
332 332 | 337] 332) 331]| 308 299 288 279 271 ) 259 | 249 253 | 245| 244 | 244
484 | 491 | 498 | 489 | 476| 457 | 445| 434 419| 403 385| 379 | 380 | 382| 383 | 383
54 55 55 54 53 51 49 48 47 45 43 42 42 42 43 43
653 | 679 703| 710| 694| 677| 646| 630| 626| 621 | 618| 612 611 615]| 601 | 601
17 17 18 17 16 14 13 12 12 12 12 12 13 14 13 13

6 6 6 6 5 5 4 4 4 4 4 4 4 5 4 4
356| 368| 391| 406| 410| 425| 412 401| 385| 385| 392 | 385 403 | 396 | 383 | 383
121 125| 130 2136| 137| 140| 133| 130| 2127 | 121 | 119( 114| 115]| 120| 127 | 127
40 42 43 45 46 47 44 43 42 40 40 38 38 40 42 42
187 197 | 213 228 | 246| 253 | 265| 260| 250 240 | 242 246 | 256 | 236 | 249 | 249
96| 102| 106 109| 112| 107| 105| 103]| 101| 100 96 93 93 95 98 98
32 34 35 36 37 36 35 34 34 33 32 31 31 32 33 33
779 805| 812| 816| 820| 820| 808 | 804 | 831| 848| 843 | 845 845 826 | 809 | 809
87 89 90 91 91 91 90 89 92 94 94 94 94 92 90 90

10




16

17

20

16

1)
©) 23
1)
(6) ) 23
(1)
) (8) 23
2 )
) | 1s) (16) 40 43
@) )
) (14) 40 43
8) @ ©)
) (12) (13)
N (16) 17 40
(2
) (11)
) (15) 40 43
8) @ ©)
) (12) (13)
; (16) 17 40
4
2
(7 (11)
) (15) 40 43
(2)
1) 40" 43

11




12

1996 IPCC
6 CH, GgCHq
1990 1991 1992 1993 1994 1995 1996 1997 1998 1999 2000 2001 2002 2003
192 193 193 189 186 184 183 181 178 175 173 171 170 169

136 136 136 134 133 132 132 132 130 128 127 126 125 124
24 24 24 23 23 22 21 20 20 19 19 18 18 18

31 31 31 30 30 29 28 27 27 26 25 25 25 26

2 2 2 2 2 2 2 2 1 1 1 1 1 1

158 163 166 167 166 165 163 163 164 165 166 166 165 164
40 41 41 41 40 39 38 38 38 38 39 39 38 38

1 1 1 1 1 1 1 1 1 1 1 1 1 1

0.2 0.2 0.2 0.2 0.2 0.2 0.1 0.1 0.1 0.2 0.2 0.2 0.2 0.2
27 28 29 30 30 30 29 29 28 28 29 29 29 28

8 8 8 8 8 8 8 8 7 7 7 7 7 8

2 2 2 2 2 2 2 2 2 2 2 2 2 2

10 11 12 13 13 14 14 14 14 14 14 14 14 14

4 5 5 5 5 5 5 5 5 5 5 5 5 5

1 1 1 1 1 1 1 1 1 1 1 1 1 1

60 61 62 62 62 61 62 63 64 64 64 63 63 62

4 4 4 4 4 4 4 4 4 5 5 4 4 4

CH,
CH,
11




E=EF*A
Ug = (UEF2 +UA2

Uer
Ua

11

CH,
CH,4

f (x)=—17.766 + 42.793X — 0.849X

:CH, [1

[kg

CH,4

CH,4

CH,4
CH,4

2

]
1:

95

13



2 95
Expert Judgement
+15
7
3 95
500 - y = -0.849x° + 42.793x
~ 500 | 9
~ y = -0.8364x* + 42.559x
+ 53.695
~ 400 .
300
200 r
100 r = -0.8607*x? + 43.0275x
- 89.227
0 L
0 5 10 15 20
(kg)

1980 pp.130-132

14

95



19.4 20.4 23.5
8.0 8.5 9.7
7.1 7.5 8.6
3.5 3.7 4.3
6.7 7.1 8.1
6.4 6.7 7.7
4.2 4.4 5.1
7.9 8.4 9.6
6.5 6.8 7.8
4.1 4.3 5.0
6.1 6.4 7.4
5.8 6.1 7.0
3.9 4.1 4.7
8.3 8.7 10.0
5.0 5.3 6.1

421.8 502.3 592.0 110.0 131.0 154.3 23.4 17.9
201.1 283.6 388.7 52.4 73.9 101.3 27.4 37.1
174.0 255.8 358.9 45.4 66.7 93.6 26.9 40.3
51.3 128.9 219.6 13.4 33.6 57.2 23.6 70.4
160.6 242.0 344.0 41.9 63.1 89.7 26.6 42.2
149.6 230.6 331.7 39.0 60.1 86.5 26.4 43.8
76.3 154.8 248.4 19.9 40.4 64.8 24.4 60.5
198.2 280.6 385.5 51.7 73.2 100.5 27.3 37.4
153.3 234.5 335.9 40.0 61.1 87.6 26.4 43.3
73.5 151.9 245.2 19.2 39.6 63.9 24.3 61.4
141.9 222.7 323.1 37.0 58.1 84.2 26.2 45.1
131.8 212.3 311.7 34.4 55.3 81.3 25.9 46.9
65.2 143.3 235.7 17.0 37.4 61.4 24.1 64.4
207.3 290.0 395.5 54.1 75.6 103.1 27.5 36.4
106.1 185.7 282.6 27.7 48.4 73.7 25.3 52.2
CH, [kgCHJ / 1 = CH, [ICHJ / ] +224[I] x16 CH, +1000x365
3
CH,
95

15



CH,

CH,

H14

1990 2003

4.3

H14

1990 H2 1,285] 100.0 8,202,623 6,669 1,230 ] 100.0 55 4.3%
1991 H3 1281] 99.7 8,343,077 6,638 1257] 102.2 25 1.9%
1992 H4)] 1281]| 99.6 8,616,859 6,858 1,256 ] 102.2 24 1.9%
1993 HS5 12471 97.0 8,550,534 7,019 1,218 99.0 28 2.3%
1994 H6 1213 944 8,387,513 7,065 1,187 96.5 26 2.1%
1995 H7 1211] 94.2 8,466,898 7,180 1,179 95.9 32 2.6%
1996 H8 1205] 93.7 8,658,858 7,429 1,166 94.8 39 3.2%
1997 H9 1,190 92.6 8,628,863 7,479 1,154 93.8 36 3.1%
1998| Hi10] 1172 91.1 8,549,404 7,498 1,140 92.7 31 2.7%
1999| Hi11 1,150 89.4 8,514,079 7,498 1,136 92.3 14 1.2%
2000] Hi12 1124] 87.5 8,416,878 7,598 1,108 90.1 17 1.5%
2001] Hi13 1126]| 87.6 8,311,848 7,692 1,081 87.9 46 4.1%
2002 Hi14| 1,120| 87.2 8,379,969 7,678 1,091 88.7 29 2.6%
2003] Hi15 1,088 84.6 8,404,999 7,759 1,083 88.1 5 0.4%

1990 2003 4.3%

33

16




10

2003 2003 2003
kg CH/ 3 548 .
/ 1615 4.3 Gg-CO, 15%
kg CH4/ 3 437 .
/ 2456 4.3 Gg-CO, 20%
2002 2004
CH,
() 4A2 CH)
CH,
a
CH,
b
GPG(2000 Tier 1 CH,
C
E=EF*A
E . CH, kg CH,
EF kg CHd /
A .
d

17




CH, kg
b
CH, 1996 IPCC
C
1989 2004 CH,4
11 CH,4
[ ] 1989 | 1990 ] 1991 | 1992 | 1993 ] 1994 | 1995 | 1996
[KgCHJ ] 55| 55| 55 55 55| 55 85 55
[ ] 1997 | 1998 | 1999 | 2000 | 2001 | 2002 | 2003 | 2004
[kgCH,/ ] 55 55 55 55 55 55 55 55
d
12
1996 IPCC
CH,
e
a
b
C
1989 2004

18




13

[ ] 1989 | 1990 | 1991 | 1992 | 1993 | 1994 | 1995 | 1996
[ 249 205 187 159 146 123] 122 116
[ ] 1997 | 1998 | 1999 | 2000 | 2001 | 2002 | 2003 | 2004
[ 105 107 96 100 103 88 95 95
14
15
12
15
15 CH,
[ 1 1990 1991 1992 1993 1994 1995 1996
CH, [Gg CH,] 0.012 0.010 0.009 0.008 0.007 0.007 0.006
[ 1 1997 1998 1999 2000 2001 2002 2003
CH, [Gg CH,] 0.006 0.006 0.006 0.005 0.005 0.005 0.005
E=EF*A
Ue :'\/(UEFZ + UAZ)
E CH,
EF
A
Ue
Uer
Una

19




1996 IPCC
GPG(2000
CHq
2
GPG(2000 CHq
+50
3
b
1
4A1 CH,
2
CHa 43
3
C
16
55 kgCHs | 50% 93 4.3% 0.1 Gg-CO, 50

20




D 4A3 CHJ
a
b
GPG(2000
C
E=EF*A
E
EF
A
d
a
b
CH,
CH,4

CH,4

CH,

CH,4

21

CH,4

Tier 1

kg

kg CH,

CH,4



17 CH,4
[ka] 0/ 71 o/ /I T° kg/ 1 T°
0.8 15.9 11 4.1
a (VA 22.4[1/mol] CH, (16)
b [/ [ 365[ 1] 366[ 1]
(o]
1989 2004 CH,
18 CHq4
[ 1 1989 | 1990 | 1991 ] 1992 | 1993 | 1994 | 1995 | 1996
[kgCH4/ ] 41 41| 41| 41| 41| 41 41| 41
[ 1 1997 | 1998 | 1999 | 2000 | 2001 | 2002 | 2003 | 2004
[kgCH4/ ] 41| 41| 41| 41| 41| 41| 41 412
d
19
CH,
CH, 64 1993
e
a
b
FAO HP FAO
C
1989 2004

22




20

[ ] 1989 1990 1991 1992 1993 1994 | 1995 | 1996
[1000 ] 30 31 30 29 27 25 20 18
[ ] 1997 1998 1999 2000 2001 2002 | 2003 | 2004
[1000 ] 16 13 12 10 10 11 11 11
d
21
FAO http://apps.fao.org/ 1989 2004
1989 2004
e
22 CH,
[ 1990 1991 1992 1993 1994 1995 1996
CH, [Gg CH,] 0.13 0.12 0.12 0.11 0.10 0.09 0.08
[ 1997 1998 1999 2000 2001 2002 2003
CH, [Gg CH,] 0.07 0.06 0.05 0.04 0.04 0.04 0.05
a
E=EF*A
U, =yJlU, 2+U,°

23



4A1 CH,4

EF
A
Ue
Uer
Ua

1

GPG(2000

2

GPG(2000

3

b

1

2

3

CH,4

CH,4

CH,

+50

CH,4

24

4.3

CH,



23

4.1 kgCO,/ [/ 50% 11 4.3% Gg-CO, 50
@) 4A4 CHJ
CH,
a
CH,
b
GPG(2000 Tier 1 CH,
(o]
E=EF*A
E - CH, kg CH,
EF kg CHy/ |
A .
d
a
CHq4 kg

25




4A3 CH,
C
1989 2004 CHa
24 CHq
[ 1 1089 [ 1090 | 1991 [ 1992 | 1993 1994 | 1995 [ 1996
[kgCH./ 1] 41| 41| a1l a1l a1l 41| 41| a2
[ 1 1097 | 1998 | 1999 | 2000 | 2001 | 2002 | 2003 | 2004
[kgCH./ ] 41| 41| a1l a1l a1l 41| 41| a2
d
4A3 CH,
e
a
b
FAO HP FAO
C
1989 2004
25
[ 1 1989 1990 1991 1992 1993 1994 | 1995 | 1996
[1000 ] 37 35 37 35 34 31 30 29
[ 1 1997 1998 1999 2000 2001 2002 | 2003 | 2004
[1000 1] 29 29 33 35 35 35 34 34

26




26
FAO http://apps.fao.org/ 1989 2004
1989 2004
e
27 CH,
1990 1991 1992 1993 1994 1995 1996
CH, [Gg CH,] 0.15 0.15 0.15 0.14 0.13 0.12 0.12
1997 1998 1999 2000 2001 2002 2003
CH, [Gg CH,] 0.12 0.13 0.13 0.14 0.15 0.14 0.14
E=EF*A

UE :\/(UEF2+UA2)

EF

Ue
Uer
Ua

27




GPG(2000

4A3 CH,4

+50

4A1 CH,

CH,4

28

4.3

CH,

4.1 KkgCO,/ [/

50%

34

4.3%

Gg-CO,

50%

&

4A5 CH/

28

NO




()  4A6 cHJ

CH4
a
CH,4

b
GPG(2000 Tier 1 CH,
c

E=EF*A

E CH, kg CH,

EF kg CH4/ /

A .
d
a

CH, kg
b
CH, 1996 IPCC

c
1989 2004 CH,

29



29 CH,
[ ] 19891 1990 | 1991 | 1992 | 1993 | 1994 | 1995 | 1996
[kgCH./ 1] 18.0 18.0f 18.0f{ 18.0] 18.0f 18.0f 18.0] 18.0
[ ] 19971 1998 | 1999 | 2000 | 2001 | 2002 | 2003 | 2004
[kgCH,/ 1] 18.0 18.0f 18.0f{ 18.0] 18.0f 18.0f 18.0] 18.0
d
30
CH, 1996 IPCC
e
a
b
FAO HP FAO
C
1989 2004
31
[ 1] 1989 | 1990 | 1991 | 1992 | 1993 | 1994 | 1995 | 1996
[1000 ] 22 23 24 26 27 28 29 26
[ 1 1997 | 1998 | 1999 | 2000 | 2001 | 2002 | 2003 | 2004
[1000 1] 27 26 25 25 21 25 25 25
d

30




32

FAO http://apps.fao.org/ 1989 2004
1989 2004
e
33 CH,4
[ 1990 1991 1992 1993 1994 1995 1996
CH, [Gg CH,] 0.42 0.44 0.46 0.48 0.50 0.50 0.49
[ 1997 1998 1999 2000 2001 2002 2003
CH, [Gg CH,] 0.47 0.47 0.46 0.43 0.43 0.43 0.45
E=EF*A
2 2
Ue =Ug?+U,7)
E CH,
EF
A
Ue
Uer
Ua
1996 IPCC
GPG(2000

31



CH,

GPG(2000

+50

4A1 CH,4

CH,4

34

4.3

CH,

18

kgCO,/ |

50%

25

4.3%

Gg-CO,

50%

[

4A7 CH/

32

NO




()  4A8 cHJ

CH4
a
CH,4
b
GPG(2000 Tier
Tier 1 CH,
c
E=EF*A
E CH, kg CH,
EF kg CH4/ /
A .
d
a
CH, kg
b
CH,
35 CH,4
[ 7 1] [/ I T [kg! /| 7T°
4.2 3 11
a 1/ 7/ 1  224[/mol] CH, (16)
b [/ [ 365[ 1] 366[ 1]

33



C

1989 2004 CH,

36 CH,

[ ] 19891 1990 | 1991 | 1992 | 1993 | 1994 | 1995 | 1996

[kgCH./ ] 1.1 22| 22| 12| 12| 11| 11| 11

[ ] 19971 1998 | 1999 | 2000 | 2001 | 2002 | 2003 | 2004

[kgCH./ ] 1.1 22| 22| 12| 12| 11| 11| 11

d
37
CH,
CHa 59:pp773-778(1988)
e
a
b
C
1989 2004
38
[ 1 1989 | 1990 | 1991 | 1992 | 1993 | 1994 | 1995 | 1996
[1000 1 | 11,817 11,335 10,966] 10,783] 10,621] 10,250] 9,900] 9,823
[ 1 1007 | 1998 | 1999 | 2000 | 2001 | 2002 | 2003 | 2004
[1000 ] 9.904] 9,879 9.806] 9,788 9,612 09,725] 9,724] 9,724

34




39
16
17 5 20
16
e
40 CH,
[ 1990 1991 1992 1993 1994 1995 1996
CH, [Gg CH,] 12.5 12.1 11.8 11.6 11.2 11.0 10.8
[ 1997 1998 1999 2000 2001 2002 2003
CH, [Gg CH,] 10.8 10.8 10.8 10.7 10.6 10.6 10.7
a
1
GPG(2000
GPG(2000 CH,
2
GPG(2000 CH,
+50

35



b
1
4A1 CH,
2
CH, 43
3
C
41
11 kgCOy |/ 50% 9,724 4.3% 224 Gg-CO, 50%
) 4A9 CHJ
CHq
1996 IPCC GPG(2000
NE
C ) 4A10
NO

36






